Clarinet in A

Yeletsky's Aria

P.I. Tchaikovsky
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Clarinet in A

Un poco animato

H |

1 7

A2 D hH

A

1]

h 1

7
g\ hH VD
&7 b

P &

N
g =
[

[

/

NI

NI
L)

A

s

pesante
.

P

a

riten. Tempo I

[

/

Poco piu mosso

h 1
h
v

h 1
v

7 b |
g\ hH [ V1)

[/
[ an N/

g\ hHh VD
[ I an Yl P 22
1
P\ H [ V1)
[ O an Yl 0 2 Y

98

)

3'57.5"

[
€

[

a tempo

H=

* 2nd Clarinet is a semitone sharper in original score
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Yeletsky's Aria

Clarinet in Bb

P.I. Tchaikovsky
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Clarinet in Bb

Un poco animato
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* 2nd Clarinet is a semitone sharper in original score
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Clarinet in A
Clarinet in Bb
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Clarinet in A, Clarinet in Bb
Un poco animato
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